$26EISHRE S B B (REX)

BREEH

B (UBEBEEH. BEEH: AL BEE 1 %)
. - % B & E & BEE EB HEHREZ T BERE EB ®B E £ & % = =
=X ® E P Al 3 Cl Al1+B1+C1
] S o ] S = E S 3 S E & = E S I fi
Fl |4 br—3a—-—HHKFK—EHZBE 6K FHL15 3,657 3,649 7,206 990 883 1,873 1,107 1,267 2,374 2,097 2,150 4,247 57.34 60.58 58.94 6
$2 02 B B N B K N T U = F 4,430 4,262 8,692 1,446 1,257 2,703 1,047 1,156 2,203 2,493 2,413 4,906 56.28 56.62 56.44 9
F3 | F & [ B ,~ 31 — + — 3,659 3,608 7,067 1,016 990 2,006 859 928 1,787 212 290 502 2,087 2,208 4,295 58.64 62.94 60.78 3
BL [ AREIIazTFT oV E—3INHWVWIL— L 3,484 3,628 7,112 1,512 1,674 3,086 514 531 1,045 2,026 2,105 4,131 58.15 58.02 58.08 8
$F5 |8 == 2N B £E 2,144 2,472 4,616 983 1,080 2,063 241 272 513 1,224 1,352 2,576 57.09 54.69 55.81 11
6 |k A 1% N £ iR N = £E 5,126 5,276 10,402 1,890 1,844 3,734 974 1,071 2,045 2,864 2,915 5,779 55.87 55.25 55.56 13
$F7 | 0 N B £E 2,307 2,386 4,693 892 905 1,797 340 385 725 1,232 1,290 2,522 53.40 54.07 53.74 17
#E8 |k A & P 3} Bz A 1,296 1,387 2,683 481 518 999 183 225 408 664 743 1,407 51.23 53.57 52.44 21
F9 |E N N 2 iR L7 = £E 3,917 3,996 7,913 1,118 1,081 2,199 797 906 1,703 1,915 1,987 3,902| 48.89 49.72 49.31 25
FBO|M + > 2 v v EIIEHT RSB 3,084 2,979 6,063 800 758 1,558 852 864 1,716 1,652 1,622 3,274 53.57 54.45 54.00 15
11 |BE =3 1R = T b5 Bk = 2,911 2,628 5,639 966 825 1,791 511 607 1,118 1,477 1,432 2,909 50.74 54.49 52.562 19
FL2|K A B E M B K *®s B 6 3,114 3,107 6,221 1,174 1,157 2,331 481 574 1,055 1,655 1,731 3,386 53.15 55.71 54.43 14
B3 |M 4 B A AN F R *®s B B 2,410 2,630 4,940 899 909 1,808 360 413 773 1,259 1,322 2,581 52.24 52.25 52.25 22
Bl4|®m 4 B EH A PR ®s B 6 2,605 2,851 5,456 951 1,001 1,952 437 552 989 1,388 1,553 2,941 53.28 54.47 53.90 16
%15 |&= = & (54 8 T B = £E 1,799 1,701 3,500 566 535 1,101 311 321 632 877 856 1,733 48.75 50.32 49.51 24
%16 | 1] N 2 iR L7 = £E 2,483 2,394 4,877 948 859 1,807 437 498 935 1,385 1,357 2,742 55.78 56.68 56.22 10
17 |Fk = N 2 Iz & = £E 2,611 2,892 5,503 1,229 1,319 2,548 365 394 759 1,594 1,713 3,307 61.05 59.23 60.09 4
F18 | T &£ N FER *®s B B 4,110 4,237 8,347 1,220 1,128 2,348 847 1,006 1,853 2,067 2,134 4,201 50.29 50.37 50.33 23
£19 | & & I\ 1] b L7 = £E 2,693 2,747 5,440 1,203 1,265 2,468 332 390 722 1,535 1,655 3,190| 57.00 60.25 58.64 7
B2 N 2 R HE B E LK S K 5 2,812 2,975 5,787 1,078 1,088 2,166 516 546 1,062 1,594 1,634 3,228| 56.69 54.92 55.78 12
$£22 & A A 4 T =] S = Gis 2,003 1,920 3,923 666 626 1,292 373 395 768 1,039 1,021 2,060| 51.87 53.18 52.51 20
$£23 |1t % = £E 1,846 1,895 3,741 725 705 1,430 268 294 562 993 999 1,992| 53.79 52.72 53.25 18
F|x B B N FE R ®*®x B B 2,250 2,429 4,679 1,178 1,244 2,422 256 285 541 1,434 1,529 2,963| 63.73 62.95 63.33 2
F25 | A = 7 T B ® = i3 2,349 2,321 4,670 1,061 999 2,060 330 375 705 1,391 1,374 2,765| 59.22 59.20 59.21 5
FE26 | EYSTEABIE tyZ2—0— | B%EE 2,570 2,708 5,278 1,263 1,318 2,581 416 443 859 1,679 1,761 3,440| 65.33 65.03 65.18 1
2 a &t 71,570|72,778 144,348|26,198|25,793| 52,123|13,154|14,698|27,852| 212| 290 502| 39,621|40,856|80,477| 55.36| 56.14| 55.75
e BE Z R HAREEE | f & & % 2 B = E B %z - -
END A2 2 c2 A2+B2+C2
E ES =t E ES E ES E ES E ES E S I f
7 4 = # & 112| 104 216 33 28 61 4 1 5 0 0 0 37 29 66| 33.04| 27.88| 30.56
PR BEER HMERMRES FTEEBREER| B 2 & & %z = -
EA +EH A 2 (o A+B+C
) S st ) % st E % ) % E % S % IE £z
BE A ' 4 & 71,682| 72,882 144,564 26,288| 25,896 52,184 |13,158|14,699(27,857| 212| 290 502|39,658|40,885|80,543| 55-32| 56.10 | 55.71




